
Predict Financial Failure 

Predicting the strength or weakness of an enterprise, and predicting its potential failure may 

require the use of certain financial ratios, these are representative of performance factors. The 

results of these ratios are then measured in the knowledge of the performance of the entity. The 

scientific literature presents the existence of many predictive models of the financial failure of 

the enterprises.      

بعط اىْسب اىَبىٍت أُ اىخْبؤ بق٘ة أٗ ظعف اىَْشؤة ، ٗاىخْبؤ ببحخَبه فشيٖب ٌسخيزً ببىعشٗسة اسخخذاً  : اىخْبؤ ببىفشو اىَبىً

. حَزو ع٘اٍو ٍٍَزة ىلأداء ، ىٍخٌ بعذ رىل قٍبس ّخبئش ٕزٓ اىْسب فً ٍعشفت أداء اىَْشؤة ، ٗحعشض اىَشاصع اىعيٍَت ٗص٘د 

 . اىعذٌذ ٍِ اىَْبرس اىخْبؤٌت ىيفشو اىَبىً ىَْشآث الأعَبه

The most common analytical models used to support the financial failure of a business is:  

1. ( Altman and Mccovgh ) Z-Score  Model (1974)  

2. (Kida) Z-Score Model 1984  

3.  (Sherrod) Z-Score Model 1987 

Altman and Mccovgh Model (1974) 

 Altman is the first to use multivariate analysis to predict business failure problems. He has 

collected more than one variable to achieve this goal. In a comparison of 33 failed companies 

and 33 successful companies in the same activity, an equation known as z- score.  

أمزش ٍِ شو ىَْشآث الأعَبه، إر قبً بضَع أٗه ٍِ اسخخذاً اىخحيٍو ٍخعذد اىَخغٍشاث، لأصو اىخْبؤ بَشنلاث اىف Altmanٌعذ 

ششمت فبشيت ، ح٘صو اىى ٍعبدىت  33 ٗ ششمت ّبصحت ٍِ اىْشبغ 33ٍخغٍش ىخحقٍق ٕزٓ اىغبٌت ٍِٗ خلاه اىذساست اىَقبسّت بٍِ 

 ٍِ امزش اىَْبرس شٍ٘عب فً اىخْبؤ ببىفشو اىَبىً ىَْشئبث الأعَبه ٌعذ ٗ-Score (Z )حعشف ببسٌ

Variables Financial Ratio Nature Ratio Relative Weight 

X1 Ratio of net working capital to total 

assets 

Activity ratio 0.012 

X2 Ratio of reserves and retained 

earnings to total assets.  

 

Profitability 

Ratio 

 

0.014 

 

X3 

 

Ratio of net profit before interest and 

tax to total assets 

Profitability 

Ratio 

 

0.033 

 

X4 

 

Ratio of market value of capital to 

book value of debt (liabilities) 

Financial 

Leverage 

 

0.006 

 

X5 ratio of net sales to total assets Activity ratio 0.0999 

expressed mathematically by the following formula: 

 Z = 0.012X1 + 0.014X2 + 0.033X3 + 0.006X4 + 0.010X5  

The ratios used in the model are: X1 = Net working capital / total assets. X2 = Retained 

Earnings / Total Assets, X3 = EBITDA / total assets, X4 = Market value of equity / total 

liabilities, X5 = Sales / Total Assets  

Z = Continuity Guide 



According to this model, companies are classified into three categories in terms of failure or 

success in continuity of work and these categories are:  

1. Successful companies should have a value of (Z) in them (2,99) and more. 

2. Companies whose existence and probability of bankruptcy are doubtful are limited to (Z) 

between (1,81) and (2,99). 

3. Failed Companies The value of (Z) is less than (1,81).   

This model is a good example of a financial failure study, which proved its ability to predict the 

detection of financial failure two years earlier.  

    -ًٕ :ٗٗبَ٘صب ٕزا اىَْ٘رس فبُ اىششمبث حصْف إىى رلاد فئبث ٍِ حٍذ فشيٖب اٗ ّضبحٖب فً الاسخَشاسٌت ببىعَو 

  2922فٍٖب فبمزش. Zاىششمبث اىْبصحت ٌخعٍِ اُ حنُ٘ قٍَت ( 1

 ( 2922ٗ) (19,1( بٍِ ) Z)( اىششمبث اىَشن٘ك فً إٍنبٍّت اسخَشاسٌخٖب ٗاحخَبه إفلاسٖب حْحصش قٍَت  2 

 (19,1(اقو ٍِ ) Z)اىششمبث اىفبشيت حنُ٘ قٍَت ( 3

 ٌٗعذ ٕزا اىَْ٘رس ٍِ اىَْبرس اىضٍذة لإصشاء دساست اىفشو اىَبىً، حٍذ اربج قذسحٔ عيى اىخْبؤ ببمخشبف اىفشو اىَبىً بذسصت 

 عبىٍت قبو سْخٍِ ٍِ ٗق٘عٔ.

Example : The following is the financial data extracted from the books of a business entity: 

Total assets    1,600 ,  Total Liabilities   600 , Retained earnings   ,   300 , Net operating profit   

350  ,  Stock Market Value   700  , Current assets   800  , Current Liabilities    500  ,   Sales  

1,200    

Required:  prepare an analytical study of these data by using the ( Altman and Mccovgh ) Z-

Score  Model to determine the extent of the entity's ability to continue. 

Z = 0.012 (300/1600) + 0.014 (300/1600) +0.033 (350/1600) +0.006 (700/600) +0.010 

(1200/1600) 

 0.027 = 0.002 + 0.003 + 0.007 + 0.007 + 0.008  

Comparing the results of the example with the indicators of the three categories mentioned 

above, we find that the probability of failure of this company is certain since the value of Z is 

(0.027) much lower than (1.81).  

( Zٗبَقبسّت ّخبئش اىَزبه بَؤششاث اىفئبث اىزلاد اىَشبس إىٍٖب اعلآ ّضذ أُ احخَبه اىفشو ىٖزٓ اىَْشبة ٍؤمذ حٍذ أُ قٍَت ) 

 (  0.020( أقو بنزٍش ٍِ ) 1,.1ًٕ )

Kida Model (1984): 

 This model is also based on five main financial ratios 

 

Variables Financial Ratio Nature Ratio Relative 

Weight 

X1 Net Profit after Tax / Total Assets  Profitability 

Ratio 

1.042 

X2 Equity / total assets Leverage rate Leverage rate 0.420 

X3 Current Assets / Current Liabilities Liquidity Ratio 0.461 

X4 Sales / Total assets Activity ratio 0.463 

X5 Assets Cash / Total Assets Activity ratio 0.271 



The equation of this mathematical model is as follows:  

Z = 1.042X1 + 0.42X2 - 0.461X3 - 0.463X4 + 0.271X5  

The probability of failure is high according to this model when the value of (Z) is negative, but 

if the value of Z is positive, the firm is safe. That is, according to this model, the probability of 

failure of the companies increases as the value of (Z) negative, but if the result is positive, the 

company's potential to continue to work without financial failure. 

ٍت فخنُ٘ اىَْشؤة فً أٍبُ إٌضبب  Zسبىبت اٍب ارا مبّج قٍَت   Z حعذ احخَبلاث اىفشو ٍشحفعت حسب ٕزا اىَْ٘رس عْذٍب حنُ٘ قٌٍ 

أٍب ارا ظٖشث اىْخٍضت  ) Z. أي أُ ٗفق ٕزا اىَْ٘رس فبُ احخَبلاث اىفشو اىخً حخعشض ىٖب اىششمبث حزداد ميَب ظٖشث قٍَت) 

 ٍ٘صبت فبُ إٍنبٍّبث اىششمت صٍذة فً الاسخَشاس ببىعَو دُٗ حعشظٖب ىيفشو اىَبىً . 

Example : The following balances appeared in the records of an industrial company:  

Total Assets     3000 , Total liabilities     1800  , Sales    4000  , Cash Assets  800 , Current 

Liabilities  1200 , Shareholders' Equity   2000 , Net profit after tax    150 . 

Required:  prepare an analytical study of these data by using the KIDA model to determine the 

extent of the entity's ability to continue.  

Solution:  

Z = 1.042 (150/3000) +0.42 (2000/1800) -0.461 (800/1200) -0.463 (4000/3000) +0.271 

(800/3000)  

Z = 0.052 + 0.466-0.307-0.617 + 0.072 Z = (0.334)  

According to this model, we find that the firm of subject of the study is under the probability of 

a high failure, this is because the value of (Z) was negative (0.334). 

( ظٖشث سبىبت Zححج احخَبلاث فشو ٍشحفعت ٗرىل لاُ قٍَت )ٗبَ٘صب ٕزا اىَْ٘رس ّضذ أُ اىَْشؤة ٍ٘ظ٘ع اىذساست حقع 

 (ِ 0.334بَقذاس )


